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22k 712 719 (kilogram) kg
Zlo] o] €| (meter) m
2> 2141 (kelvin) K
E2EF = (mole) mol
AlZF % (second) S
A5 o] (ampere) A
1l 7+l g} (candela) cd

e IR IAHU 2 &= WsHAE T )| H(scientific notation)@& EJ|&.
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oin

o



2Ixt TEA 718 o

1,000,000,000,000 = 10" g 2Htera) T 1 teragram (Tg) = 10* g
1,000,000,000 = 10° 7|7Hgiga) G 1 gigameter (Gm) = 10° m
1,000,000 = 10° | 7Hmega) M 1 megameter (Mm) = 10° m
1000 = 10° 2 2 (kilo) k 1 kilogram (kg) = 10’ g

100 = 10° &l & (hecto) h 1 hectogram (hg) = 100 g

10 = i0* H|7Hdeka) da 1 dekagram (dag) = 10 g

01 =10~ g|A|(deci) d 1 decimeter (dm) = 0.1 m
0.01 = 107> AlE](centi) c 1 centimeter (cm) = 0.01 m
0.001 = 10~ 2] (milli) m 1 milligram (mg) = 0.001 g
*0.000 001 = 10~° u}o| 3 & (micro) w 1 micrometer (um) = 10™° m
*0.000 000 001 = 10~ U-(nano) n 1 nanosecond (ns) = 107 s
*0.000 000 000 001 = 10~ ** 1] 5 (pico) p 1 picosecond (ps) = 107"* s
*0.000 000 000 000 001 = 10~ " 9 E (femto) f 1 femtomole (fmol) = 10™" mol
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&at0| 54.441 778 g2l HILIA B2 RHE 53?7
=k EM N2 Al M2 EME M2
1 0.1 kg 544g¢g 54.4418 g
2 0.0 kg 54.5¢g 54.4417 g
3 0.1 kg 543 g 54.4418 g
(<) (0.07 kg) (54.4 g) (54.4418 g)
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1 0.1 kg 544 ¢ 544418 g
2 0.0 kg 545 g 54.4417 g
3 0.1 kg 543 g 54.4418 g
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S8 == XH(significant figure) #&!;

4.803 cm S8 52470 4, 8,0, 3

0.006 61 g S8 5237 6, 6, 1

55.220 K SF 5257005, 5,2, 2. 0

34,200 m 8 A7 370(3, 4, 2)oAFE 5703, 4, 2, 0, 0) Afo]

2. =2 AM&ole 220 U= 02 FEx<AIL 0.
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0.006 61 g2 3M2 & =XNE L 7&.(0.006 61 g =6.61x1073 g).
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27802 S Ji= Ol 11.70 2812 HEFRIF A2E ASXt2 HHIE AL
278 mi

i}
= = 23.760 684 mi/gal
A% 11.70 gal ol (A1)

Wme

oAu] =

o HA&I0= 8IS ==X LIEFLEX| S SH G2 X032 HYGHA] 28

« ANIZ B2 78 <A 3= Y.

- S8 =AIOIL 22 =XE 210HA 23.8 mi/gal@ 2 822! (rounded off)
| O Of &.
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AN i
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11



2. HEOILE 2AO0A

()
—
72 A =8 JI& = 8l&.

318277
+0.01315 <— A4 ofal 512
319277 =



1. HAHGHAE R <X 520 228 Held 1 US <=2k 25 HE.
= 5.664 525= K& =Xt 3MZ BHSEGHHE Hels R <= XH4)Jt 520 &)
20l 5.662 gt JHE.

2. HiHold= H x=XIt 520 3H %' A= =0l 12 ol =8,
= 5.664 525= 72 <k 22 gt=EolE Hele ® I}(G)J} 55 CH 3|
M0l 5.72 gt JH&.
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5.664 525= Ra <At 4= Bt=EolH 5 Ch=01l 00| OF: fIHZ 5)7t
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